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Note —— Answers may be written either in English or in Hindi;
but th_e same medium should be used throughout the

paper.
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Attempt Afl questions.
All questions carry equal marks.
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I. (a) What are the provisions relating to deduction of tax at

source from the following ? 6

() Payment to contractors and subcontractors;

(i) Payment in respect of rent.

(b)  What are the various modes of recovery of tax ? Explain
when provisional attachment is sought by the Assessing

Officer. 9
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Or
(@)

Shri Bose has estimated the following incomes for the
financial year 2010-11 : _ 11
() Income from House Property (Taxable) | 40,000
(i) Income from Profession (Taxable) 6,35,000
(iif) Dividend from X & Co. 10,000
(iv) Receipt from Lottery Winning

(after tax deduction at source) ' 35,000
(v) Agricultural Income 30,000

Determine the amount of instalments payable as advance

tax.

P.T.O.
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Estimated total income of a domestic company for the
financial year 2010-11 is one crore two lakh rupees.

Determine the amount of advance tax payable. 4
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Discuss the provisions relating to Best Judgment

Assessment. - 8

When is a return of income regarded as Defective ?
Also explain the consequences of a Defective Return

of Income. ) 7
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Find out the amount of interest payable under Section
234C in the case of A Ltd. for the assessment year
2010-11 : n

Income* declared as per return 12,00,000

Advance Tax paid on :

10-6-2009 ' 40,000
11-9-2009 90,000
9-12-2009 1,40,000
3-02-2010 ' 50,000

P.T.O.
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From the following information compute the amount of

interest payable by the Department under Section 244 A,

if any : : 4
() Tax paid by ;ara.y of advance

tax and tax deducted at source

before 31-3-2010 ' 3,00,000

(i) Tax due for assessment year 2010-11 2,00,000

(fify Due date of filing retum , 31-7-2010
(») Date of filing retum 30-11-2010
(v) Date of actual refund granted 31-05-2011

fruftor &€ 2010-11 ® fom ‘v fafiRes @ e
¥ R 234C ® A9 oW AW w] TN T
wifse

faaroht g St emE ’ 12,00,000

i e % gyme Wt e iR Tl e

10-6-2009 40,000
11-9-2009 90,000
9-12-2009 1,40,000

3-02-2010 50,000

L
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_Differentiate between Belated Retun and Revised Return

of Income. ) 8

State the circumstances when the income is deémed to

have Escaped Assessment. 7
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Or
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Shri Shyam declared the income in his

Income Tax Return for the Assessment

Year 2010-11

" The Assessing Officer added the

concealed income
The Assessing Officer without any
sufficient evidence added an amount

as ineligible "deductions

1683

4,75,000

4,15,000

25,000

Determine the amount of tax payable, tax sought to

be evaded and penalties imposable under Section

271(1) (C).

What are the circumstances under which penalty is payable

under Section 271 (1) (C) ?

7



(9 ) 1683

(%) st vam = Fufor =9 2010-1 &,
fam ot sy faswoht H o owfe
s o ' 475000
fuito afie 3 St fodt s 4,15,000
ﬁwmﬁ%mmaﬁ
ﬁmw.mﬁ%mﬁ
el A 25,000

3R HRI_Z'il(l)(C)a:“BFﬁTfH s it
fauifim  wifsw

(=) 9 271 (1) (© % o wia fRT wRfeaf
# 2 o ¥ ?

Mr, Ram is the owner of a house which is constructed on
a leasehold land. He has let out this house to a tenant for

¥ 5,250 p.m. The other terns are as under : 15

()  The tenant will pay half the municipal taxes and bear

the full cost of repairs.

P.T.O.
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{if}  He will pay ¥ 50,000 as advance on which no interest
will be paid to him and this amount will be refunded

at the time of vacating the house.

(#il)  He will pay ¥ 30,000 as premium for leasing the property

for five years.

The annual value assessed. by the local authority is ¥ 90,000

and taxes levied T 12,000.
The tenant spent ¥ 10,000 on the repairs of the house.

The difference between the unbuilt area and specified area is
12% of the aggregate area. Find out the vatue of house for
wealth tax purposes, if the cost of the building (including land)

in 1980 was ¥ 6,00,000.

He paid ¥ 60,000 for the acquisition of the land but now the
lessor’s value of the land is T 3,00,000. The lessor charges
40% of the unearned increase on the transfer of a house. The

unexpired period of lease is 60 years.
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(3=
X furnishes the following particulars for the compilation -

of his Wealth Tax return for the assessment year

2010-11. Compute the Net Wealth of Mr. X : 8
() Gifts of jewellery made to wife from

time to time aggregating ¥ 60,000,

market value‘ on the valiation date 2,00,000
(i) Flat purchased under instalment

payment scheme in 1972 for

¥ 7,50,000 used for |5urpose‘of v

his residence and market value as

on March 31, 2010 (instalment

remaining) unpaid ¥ 50,000) 10,00,000
-(iif) Urban land transferred to minor

handicapped child valued on

31st March, 2010 5,00,000
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(v} Farm House situated within 25 kms

of local limits 25,00,000
(v} Cash in hand 4,00,000
{(vi} Income Tax liability 50,000

(vif) Motor car (not held as stock-in

trade, oﬁe of them imported

¥ 2,00,000) 10,00,000
{vif{) Urban land acquired-in 1965 (it may

be used for construction of any |

. building—residential or commercial)

and situatgd within jurisdiction . of

a municipality having population

of less than 10,000 . 20,00,000

(A) Is there any correlation between residential status and
wealth tax liability in case of an individual ?

Explain. ‘ 7
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5. (a) Discuss the concept of Service Tax. Also mention due

dates for filing of Service Tax Return. 8

(6)  Explain the provisions of composition scheme under Section

16 of DVAT Act. ) 7
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Or

(rer=m)

(@)  What are the exemptions available from charging of Service

Tax ? 8

()  Discuss the merits of DVAT in Indian context. 7
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16 4,000



